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Please read the instructions in Question Booklet before answering the guestion paper.
INSTRUCTIONS

01. The question paper has '10' printed pages. Please ensure that the copy of the question paper you have
received contains all pages.

02. Before starting the paper, fill up the required details in the blank space provided in the answer sheet.

03. Write your name and Seven digit Reg. No. in the space provided at the top of this booklet.

04. The question paper consists of '85' objective type questions. Each question carry 4 marks and all of them
are compulsory.

05. Each question contains four alternatives out of which only ONE is correct.

06. There is NEGATIVE marking. 1 mark will be deducted for each wrong answer.

07. Indicate the correct answer for each question by filling appropriate bubble in your answer sheet.

08. The answers of the questions must be marked by shading the circle against the question by dark Black
Ball point Pen only.

09. For rough work, use the space provided at the bottom of each page. No extra sheet will be provided for
rough work and you are not supposed to bring the same.

10. Use of blank papers, clip boards, log tables, calculator, slide rule, mobile or any other electronic
gadgets in any form is "NOT PERMISSIBLE".

11. You must not carry mobile phone even if you have the same, give it to your Invigilator before commencement
of the test and take it back from him/her after the exam.

12. The Answer Sheet will be checked through computer hence the answer of the questions must be marked by

shading the circles against the question by dark Black Ball point Pen only.

For example if only 'C' choice is correct then, the correct method for filling the bubble is
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ng or any other manner will be treated as wrong.
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Thespeedof lightis
(A) 330m/s (B) 300,000,000 m/s (C) 30,000 m/s (D) 300,000,000 km/s

Shwetaobserveslightningin her area. Shehearsthe sound 5 safter sheobserved lighting. How far isshe
fromtheplacewherelighting. How far isshefrom the placewherelightning occursif speed of soundin
airis330ms

(A) 1.65km (B) 2.55km (C)3.65km (D) 4.55km
When you heat thewater inapot, it boils. What do you infer from above observation?
(A) Heat isaform of energy (B) Water can boil itself

(C) Water developsheat onit own (D) Noneof theabove

Cement floorsarelaid with the glasses between the rectangul ar floor tiles. Thereasonis
(A) togivethem abeautiful geometrical design

(B) glasseshold thefloor tilesstrongly

(C) nottolet thefloor tilescrack on heatingin the summer

(D) thereisno specific reason

By using acncave mirror, image of atreeisfocused on ascreen. Thedistance between the screen and
themirroris

(A) Equal totwicethefocal length of the concave mirror.

(B) Equal to onefourth of thefocal length of the concave mirror.

(C) Equa to hdf theradiusof curvature of theconcavemirror.

(D) Equd totheradiusof curvature of the concave mirro.

Convex mirrorsareused asrearview mirrorsin themotor vehiclesbecause

(A) thereflect light better thanthe other mirrors

(B) they produceimageswhich are more clearer than those produced by others.
(C) theproduce magnifiedimages

(D) they formimageswhich aremuch smaller than the objects

Study the graph given below. How isthe speed of the moving body?

A

Distance

b
/’_h‘
>

Time

(A) Itgoesonincreasing

(B) It first decreasesthen becomeszero

(C) Itincreasesthen becomes constant but not zero
(D) It decreasesthen becomes constant but not zero

Oxygen can be suppliedto afishtank by bubbling air into water. The pressure and thevolumeof theair
bubbleswhilethey arerising respectively

(A) Decreases, increases (B) Decreases, decreases

(C) Increases, decreases (D) Increases, increases
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Gapsareleft between railway tracks because:

(A) gapsgivethe spacetothetracksto expand in summer heat

(B) gapsholdthetracksfirmly

(C) to produce gentle rhythemic sound when the train moveson thetrack
(D) itiscustomary to leavethegaps

When wetouch asted rod and apaper simultaneously, wefeel that therodis colder because
(A) iron being agood conductor conducts more heat from our body

(B) paper being agood conductor conducts more heat from our body

(C) more heat flowsfrom theiron to our body

(D) more heat flows from the paper to our body

A brick of weight 80 N stands upright on the ground as shown in figure. the pressure exerts on the
ground by brick is

A) 220,10 N2 = ¥
80
(B) 80 x 5 x 10 Nm™

C L N —2
(©) gox5x10* NM

20cm

D L N —2
(D) Tox5x10 NM

Thedistance between thefocusand the pole of themirror iscaled
(A) focd length (B) radiusof curvature
(C) principd axis (D) diameter of curvature

At aparticular time, the constant of ratio of length of atree and thelength of itsshadow isfound to be
1.5. Now, thelength of the shadow of aflag poleis 15 m, calculatethelength of the pole
(A)15m (B)22.5m (C)2.25m (D)13.5m

John carried out an experiment to find out how different surface (PQ,R and S) effect thedistanceacar
travelling at 50 km/h needed to stop oncethe brakes are applied.
Theresultsare shown below :

Typeof roadsurface | P | Q| R | S
Stoppingdistance (m) | 18 | 15|19 | 27

Whichtypeof road will providethemost friction for the car to stop ?
(A)P (B)Q OR (D)S

Which of thefollowing relationsiscorrect ?

i _ Sped : _ Time
(A) Distance= — — (B) Distance= %
: _ . _ _ 1
(C) Distance = Speed x Time (D) Distance= —Sp < Time
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Which of thefollowingwill betruefor ‘ash’ that isobtained by burningwoodin air ?
(A) Thepropertiesof ashwill besmilar towood

(B) Thepropertiesof ashwill besimilar toair

(C) Thepropertiesof ash will bedifferent from bothwood and air.

(D) The propertiesof ash will besimilar to bothwood and air.

Phenolphthalein turns inacidic and neutral solutions.
(A) colourless (B) pink ©)red (D) green
Caustic sodaisthe common namefor :

(A) Mg(OH), (B) KOH (C) Ca(OH), (D) NaOH

Which amongthefollowingisthestrongest acid ?
(A)Aceticacid (B) Sulphuricacid (C) Formicacid (D) Tannicacid

Which of thefollowingwill betruefor *ash’, that isobtained by burningwoodinair ?
(A) Thepropertiesof ashwill besmilar towood

(B) Thepropertiesof ashwill besimilar toair

(C) Thepropertiesof ash will bedifferent from bothwood and air.

(D) The propertiesof ash will besimilar to bothwood and air.

A basereactswith anacidto form salt and water. Thisreactioniscalled
(A) oxidationreaction (B) neutraisation reaction
(C) reductionreaction (D) ionisationreaction

Adding sat towater makesit salty. Which of thefollowingistrueregarding thischange ?
(A) Itisachemical change because anew substanceisformed

(B) Itisaphysical change becausethe original substancescan berecovered

(C) Itisachemical changebecausethereisexchangeof heat

(D) Itisaphysica change becausethereisadight changein colour.

Adding sat towater makesit salty. Which of thefollowingistrueregarding thischange ?
(A) Itisachemical change because anew substanceisformed

(B) Itisaphysical change becausethe original substancescan berecovered

(C) Itisachemical changebecausethereisexchangeof heat

(D) Itisaphysica change becausethereisadight changein colour.

Polystyrene hasfollowing uses:-

(A) forinsulating refrigerators & cold stores

(B) for containerswhich areused asice box

(C) for packing expensiveitemsascellphones, TV

(D) All of these

Whichistheweakest acid ?

(A) Citric (B) Sulphuric (C) Hydrochloric (D) Nitric
Inacids, methyl orangeturns:

(A) ydlow (B) green ©)red (D) white

Theacid usedinthemaking of vinegar is:
(A) formicacid (B) aceticacid (C) sulphuricacid (D) nitricacid
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? +0,—- 2K,0
(A)K (B) K, (C) 2K (D)4K
Two changesare stated below :

I. A pieceof magnesium givesof bright flameswhen burnt.

i. A pieceof iron glowsred when heated strongly.

Which of theseisaphysical change?

(A)ionly (B)iionly (C) bothi andii (D) neitheri nor i

Which of thefollowingisthermosetting plastics
(A)PVC (B) Nylon (C)Mdamine (D) Terylene

Cryopreservetionis.
(A) Preservation of livingbeingsinchemicas  (B) Preservation at very low temperature
(C) Preservationthroughradiation. (D) Preservation through use of gases.

Above plant mushroom getsitsfood

Mushroom

(A) from dead and decaying plants (B) from photosynthesis
(C) by eating small insectswhichcomenearit (D) fromthewater we pour near it

Irrigationfacilitates:

(A) Absorption of mineral & fertilisers. (B) Pond formation.

(C) Easy harvesting (D) Croprotation.

Strong heating of asubstance at high temperaturefollowed by immediate chillingis

(A) Pagteurization (B) Cryopreservation (C) Sterilization (D) Neutrdization
Plantsgrown & cultivated at oneplaceonalargescae-

(A) Weeds (B) Mushroom (C) Crops (D) None

Which of thefollowing statementsisnot correct?

(A) Inplant cells, vacuolesare absent.

(B) Vacuoleisbounded by asingle membrane.

(C) In Amoeba, contractile vacuol eisimportant for excretion.
(D) Hagdlumisimportant for transport of bacteria

Which part of thecell containsorganelles?

(A) Protoplasm (B) Nucleoplasm (C) Chromosomes (D) Cytoplasm

Thetube starting at mouth and ending at anusiscaled

(A) oesophagus (B) food cavity (© dimentarycand (D) e ementary cana

Thepolio dropsgivento childrenin pulsepolio programmeis

(A)Anantibiotic (B)Avaccine (C)Adrug (D) Anenergy suppliment
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Which of thefollowingisaparastic plant?

(A) Cactus (B) Sdiva (C) Cuscuta (D) Cucumber
Mushroomisthetypeof :

(A)Algee (B) Protista (C) Fungi (D) Bacteria
Digested food is absorbed by

(A) heart (B) lungs (C) blood (D) water

The part of dimentary canal that runsfrom themouth to ssomachiscalled
(A) trachea (B) bronchi (C) oesophagus (D) intestine

Controlling centreof acdl is
(A) Nucleus (B) Nucleolus (C) Chloroplast (D) Ribosome

Raju got stomachache. Which of thefollowing could be areason?
(A) Heatefood at sevenintheevening

(B) Hedrank water after eating food

(C) Hedid not chew thefood properly

(D) Hedid not wash hishands properly after eating food

1
O reduced by 5 is

1 1
(A) > (B) - > (©)2 (D)2

Theabsolutevaueof | x—6|+|6—x |,when0<x<6is

(A) 6x (B) 12 (C) 2(6—x) (D) Noneof these
Solveforx 6x—-7 3x+1

VeIOrX: %41 x45°
(A)5 (B)3 (C)2 (D)1

-a
Theadditiveinverseof — is

b

b a a b
A) — B) — C) — D) ——
( )a ( )—b (C) o (D) -
Therational number 0.3 canasobewrittenas..........o.........
A B) o) D) 333
QT ®) Too © 3 (D)

. o -5 2
Writetheadditiveinverse of 5 + 3

1 -1
i B) & (06 (D)-6
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Fivetimesthe number increased by 4isequa 39. Thenumber is
(A)4 (B)S 7 (D)6

Infigurel ||m, then Z<ABCwill be
m I

4:/ C.
/ A A5° »
B

(A) 45° (B) 30° (C) 35° (D) 125°

1
A pieceof wire Zm longisbrokeninto pieces. Onepieceis ZEm long . Find thelength of the other

piece

A) B) > 0> D) >

(&) 7 m (B) gm (©) 7m (D) 5m

Thenumerator of afractionissix morethan thedenominator. If thenumerator isincreased by 5and the

3
denominator isdecreased by 1, thefraction becomes — . Find thefraction.

2
A) 25 B z C 1 D @
(A) (B) 55 (©) 5 (D) 35
Find the smallest square number divisible by each one of the numbers 8, 9 and 10.
(A) 360 (B) 720 (C) 3600 (D) 2500

Thegreatest four digit number whichisalso aperfect squareis
(A) 9701 (B) 9801 (C) 9901 (D) Noneof these

2x-3 x+1 3x-8

Solve

2 3 4
A)l B)2 C ﬂ D §
(A) (B) © ¢ (D) 4
Thehypotenuse of anisoscelesright angled triangular field hasalengthof 30v/2 m, thenlength of other

ddeis
(A) 30V2m (B)30m (C)25m (D) Noneof these

Themeasure of each angle of aconvex quadrilaterd is
(A) lessthan 180° (B) equal to 180° (C) greater than 180° (D) noneof these

If theangleof aquadrilateral arex°®, (x —10)°, (x + 30)° and 2x°, thenthegreatest angleis
(A) 136° (B) 180° (C) 68° (D) 148°
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Direction (Q.62t0Q.65: Read thefollowing tableand choosethe correct answer from the given four
alternativeanswers

ClassIntervals | 5-10 | 10-15 | 15-20 | 20—-25 | 25-30 | 30-35

Frequency 18 27 19 14 3 8
Q.62 Thesizeof theclass25—-30is
(A)5 (B) 25 (C) 30 (D) 27.5

Q.63 Thelower limit of theclass15—20is
(A)20 (B) 15 (©5 (D) 35

Q.64 Theupper limit of theclass30—-35is
(A) 30 (B) 32 (C) 35 (D) 65

Q.65 Theclassmark of theclass5-10is
(A)5 (B) 10 (C) 15 (D) 7.5

Q.66 3,10, 29, 66,127, ?
(A) 164 (B) 187 (C) 216 (D) 218

Directions(Q.67): Refer tothedatabelow and mark thealter nativethat followsfrom thedatagiven
inthequestion.
‘=" means ‘<'; ‘A’ means ‘>'; ‘LImeans’'<’ , ‘[ means‘'>’ ; ‘X’ means‘=’

Q.67 ab=Z2 ¢ impliesthat
y
(A)a>z (B)ab<c (C) (b)*>z (D)c<ab
Q.68 Six personsaresitinginacircle. Ved facestowards Balbir who isto the left of Nandu and right of
Prakash. Nandu isto theleft of Moti. If Moti exchange his seat with Narendraand Parkash exchange

with Balbir, whowill besittingto theleft of Moti ?
(A) Narendra (B) Bahir (C) Nandu (D) vVed

Direction (Q.69to 74) : Find themissingterm.
Q.69 1,9,17,33,49,73, (......)
(A)97 (B) 98 (C) 99 (D) 100

Q.70 5,16, 49, 104, (......), 280
(A) 115 (B) 148 (C) 170 (D) 181

Q.71 9 11,20,31,(...), 82
(A) 41 (B) 51 (C) 60 (D) 71

Q.72 5,17,37,65,(.....), 145
(A) 95 (B) 97 (C) 99 (D) 101

Q.73 4,10, (......), 82, 244, 730
(A) 24 (B) 28 (C) 77 (D) 218

Q.74 UPI, 2, ODP, MBQ, IAW
(A) RHJ (B) SHJ (C) SIJ (D) THK
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Q.75 If 'South-east'iscalled 'East’, 'North-west' iscalled 'West', 'South-west' iscalled 'South' | and so on,
what will 'North' becalled?
(A) 'East (B) North-east (C) North-west (D) South

Direction (Q.76to 78) : Findthemissingterminthefollowing series.
Q.76 1,4,2,8,6,24,22, 88, ..
(A) 86 (B) 90 (C) 154 (D) 352

Q77 2,1,2,4,4,5,67,8,8, 10,11, ....
(A)9 (B) 10 (©) 11 (D) 12

Q.78 C4X,F9U, I16R, ?
(A) K25P (B) L25P (C) L250 (D) L27P

Q.79 SxTmeans'Sisthebrother of T'.
S—T means'Sisthemother of T'.
S+ T means'Sisthefather of T'.
Which of thefollowing represents'M istheson of Q' ?
(A)MxR+Q (BYM+RxQ COM-R+Q (D)Q+M xR

Q.80 Adiceisthrown four timesand itsfour different positions are shown below. Find the number on the
face opposite the face showing 2.

(i) (if) (iii) (iv) @

(A)3 (B) 4 ©)5 (D) 6

Direction (Q.81): The sheet of paper shown in the figure (X) given on the left hand sideg, in each
problem, isfolded to form a box. Choose from amongst the alter natives (A), (B), (C) and (D), the
boxesthat aresimilar tothebox that will beformed.

HE /4 /57
Q8 T om D o
(X) (A) (B) © (D)
(A)Aand B only (B)B,CandDonly (C)Donly (D) Cand D only

Q.82 Which symbol will appear on the opposite surface to the symbol 'X" ?

+ A

(i) (ii)
(A) = (B) = € A (D) O
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Q.83 Findthemissngterminthegivenfigure.

(A)10 (B) 13 (C) 12 (D) 14
Q.84 Pointingtothelady ontheplatform, manjusaid " sheisthes ster of thefather of my mother'sson” who
isthelady to manju ?

(A) mother (B) sster (C) aunt (D) niece

Q.85 Intheword PORTER can be coded asMBNZQN, how can REPORT bewritten ?
(A) NQMINBZ (B) NQMBNZ (C) NBQMNZ (D) NQBMNZ
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ANSWER KEY

Class : VI SAMPLE PAPER
Q1 B Q31 B Q.61 A
Q2 A Q32 A Q.62 A
Q3 A Q33 A Q.63 B
Q4 C Q34 A Q.64 C
Q5 C Q35 C Q.65 D
Q6 D Q36 A Q.66 D
Q7 B Q37 D Q.67 B
Q8 A Q38 C Q.68 D
Q9 A Q39 B Q.69 A
Q.10 A Q40 C Q.70 D
Q.11 D Q41 C Q.71 B
Q12 A Q42 C Q72 D
Q.13 B Q43 C Q73 B
Q.14 B Q44 A Q.74 B
Q.15 C Q45 C Q75 C
Q.l6 C Q46 B Q.76 A
Q.17 A Q47 C Q.77 B
Q.18 D Q48 C Q.78 C
Q.19 B Q49 C Q79 D
Q20 C Q.50 C Q.80 C
Q21 B Q.51 A Q81 D
Q22 B Q52 C Q82 D
Q23 B Q53 C Q83 B
Q24 D Q54 C Q84 C
Q25 A Q55 A Q85 B
Q26 C Q.56 C

Q27 B Q.57 B

Q28 D Q.58 B

Q29 B Q59 B

Q30 C Q.60 A



